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1. The effective rate of interest for 2 year

corresponding to a nominal rate of 13% per

annum payable yearly is—

13%

(A) 26% (B) 26.26%

(C) 27.69% (D) 27%

2. The effective rate of interest for 3 year

corresponding to a nominal rate of 10% per

annum payable yearly is—

10%

(A) 33.1% (B) 32.21%

(C) 36.2% (D) 30%

3. The effective annual rate of interest

corresponding to a nominal rate of 22% per

annum payable halfyearly is—

22%

(A) 44% (B) 23.21%

(C) 46.42% (D) 22%

4. The effective annual rate of interest corre-

sponding to a nominal rate of 7% per annum

payable halfyearly is —

(A) 14 percent/

(B) 14.25 percent/

(C) 7 percent/

(D) 7.12 percent/

5. What is effective rate of interest per annum

which matches nominated rate payable half

yearly at 6% per annum?

6%

(A) 6.06% (B) 6.07%

(C) 6.08% (D) 6.09%

6. Mutthut finance claims to be lending money

at simple interest, but he includes the inter-

est every four months for calculating the prin-

cipal. If he is charging an interest of 21% per

annum, the effective rate of interest becomes:

21% 

(A) 23.4943% (B) 21.4943%

(C) 22.5043% (D) 21.7543%

7. A sum is lent at compound interest of 12% per

annum and it is calculated half yearly. At what

compound interest rate percent that same sum

is lent to get the equivalent of previous result?

12% 

(A) 12.5% (B) 12.4%

(C) 12.36% (D) 12.8%

8. The effective annual rate of interest corre-

sponding to a  nominal rate of 15% per an-

num payable half-yearly is—

15% 

(A) 15.56% (B) 30%

(C) 31.13% (D) 15%

9. A sum of ` 18,000 is invested for 16 months

at 8% per annum compounded half-yearly.

What is the percentage gain at the end of 16

months. to the nearest whole number?

` 18,000 8% 

16 16 

(A) 9% (B) 11%

(C) 10% (D) 12%

10. A sum of 12,000 is invested for 15 months at

10% per annum compounded half yearly.

What is the percentage gain, at the end of 15

months, (correct to one decimal place)?

` 12,000 15 10%

15

(A) 13.0% (B) 13.1%

(C) 12.8% (D) 12.9%

Compound Interest [ Part - I,II ]
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11. An automobile financer claims to be lending
money at simple interest, but he includes the
interest every six months for calculating the
principal. If he is charging an interest at the

rate of 10% the effective rate of interest be-
come.

10% 

(A) 10.25% (B) 10.5%

(C) 10.75% (D) 11%

Type-2

12. Find the C.I. of ` 7500 at 4% per annum for 2
years ?

` 7500 4% 

(A) ` 612 (B) ` 600

(C) ` 618 (D) ` 624

13. Find the C.I. of ̀  24000 at 5% per annum for 1
year 73 days?

` 24000 5%

(A) ` 1260 (B) ` 1452

(C) ` 1352 (D) ` 1442

14. Find the C.I. of ̀  10000 at 5% per annum for 1
year 1 day?

` 10000 5%

(A) ` 500.48 (B) ` 503.47

(C) ` 502.43 (D) ` 501.43

15. The amount of ` 10,000/- after 2 years, com-
pounded annually with the rate of interest be-
ing 10% per annum during the first year and
12% per annum during the second year, would
be (in ` )?

10% 12% 

` 10,000 2 (` ) 

(A) ` 11, 320/- (B) ` 12,000/-
(C) ` 12,320/- (D) ` 12,500/-

16. ` 2500 was borrowed for 3 years. What will be

the compound interest if the rate of interest
for first year is 3% per annum, for second year
is 4% per annum and for third year is 5% per
annum respectively ?

` 2500 

3% 4%

5% 

(A) ` 311.85 (B) ` 312.85

(C) ` 310.90 (D) ` 311.90

17. The compound interest on ` 5000 for 3 years

at 8% for first year, 10% for second year and

12% for third year will be—

` 5000 

8%, 10% 12% 

(A) ` 1652.83

(B) ` 1652.73

(C) ` 1652.80

(D) ` 1652.77

18. Surendra invested ` 20,000 at a rate of C.I.
1

6 %
4

 p.a. for 2 years 73 days. Find the C.I.?

` 20,000 
1

6 %
4

(A) 265.5 (B) 2860.35

(C) 234.5 (D) 2510.5

19. The interest on ` 24,000 in 2 years com-

pounded annually when the rates are 8% p.a.

and 10% p.a. for two successive years is:

` 24,000 2 

8% 10%

(A) ` 3,994 (B) ` 4,512

(C) ` 5,040 (D) ` 5,866

20. The interest (in `) to be paid on a sum of

`30,000 at 15% per annum after 
2

2
3

 years, if

interest compounded yearly, is:

 (` ), 
2

2
3

  15%  ̀  30,000

                        (CGL - Pre 2020)

(A) 14362.50 (B) 12364.50

(C)16342.50 (D) 13642.50

21. Find the compound interest on a sum of `
1960 for 1 year 146 days at 14.28% p.a.

` 1960 14.28% 

1 146 

(A) ` 432 (B) ` 408

(C) ` 460 (D) ` 400
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22. A sum becomes ` 1352 in 2 years at 4% com-

pound interest rate. Find the sum?

4% `

1352 

(A) ` 1250 (B) ` 1200

(C) ` 1300 (D) ` 1260

23. Compounded Interest on a sum of money is `

350 in 4 years at 
1

33 %
3

per annum. Find the

sum ?

1
33 %

3
 

` 350 

(A) ` 168 (B) ` 165

(C) ` 230 (D) ` 162

24. On what sum will the compound interest for

1
2

2
 years at rate of 10% p.a.  is ` 6350.50?

1
2

2
 10% 

` 6350.50

(A) ` 23485

(B) ` 23477

(C) ` 23478

(D) ` 23577

25. In 3 years ` 3000 amounts to ` 3993 at x%

compound interest, compounded annually.

The value of x is?

` 3000 x%

3 ` 3993 x

(A) 10 (B) 8

(C) 5 (D) 
1

3
3

26. If Rs.10000 amounts to Rs. 11664 invested in

compound interest (compounded annually) for

two years. Then find the annual  rate of com-

pound interest ?

` 10000 2 (

)` 11664 

(A) 10% (B) 9%

(C) 8% (D) 6%

27. In what time ( in years) will ` 8000 amounts to

` 9261 at 5% per annum, compounded annu-

ally ?

` 8000 5% 

` 9261 

(A) 3 (B) 
1

3
2

(C) 4 (D) 
1

4
2

28. If amount becomes 2.25 times of principal af-

ter 2 years at compound interest (annually)

Then what is rate percent per annum?

(A) 25% (B) 30%

(C) 45% (D) 50%

29. The compound interest on ` 30,000 at 7% per

annum for n years is ` 4347. The value of n is

` 30,000 7% n

` 4347 n

(A) 3 (B) 2

(C) 4 (D) 5

30. The sum for 2 years gives a compound inter-

est of ` 3225 at 15% rate. Then sum is?

2 15% `

3225

(A) 10000 (B) 20000

(C) 15000 (D) 32250

31. At what compound interest rate per annum

will a sum of ` 1200 will become ` 1348.32 in

2 years?

`1200

` 1348.32

(A) 6.5% (B) 4.5%

(C) 6% (D) 7.5%

32. Hemant singh invested an amount of ` 20000

at compound interest 10% p.a. Find the total

amount he will get after 
2

2
5

 years?

` 20000 10% 

2
2

5

(A) 24000 (B) 24968

(C) 26620 (D) 25168
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33. Anand gave 30,000 and 50,000 as a loan to

Avadhesh and Yogendra for two years under

compound interest. For Avadhesh the rate of

interest was 6% for the first year and then 10%

on the total amount due for the second year.

For Yogendra, the rate of interest was 8% for

the first year and 12% on the total amount

due for the second year. If Yogendra had re-

turned 30,000 at the end of the first year and

Avadhesh returned the entire amount at the

end of second year. How much more interest

did Yogendra pay than Avadhesh?

30,000 50,000 

6% 

8% 

12% 30,000 

(A) 2,000 (B) 4,100

(C) 5,450 (D) 1,900

34. At what percentage rate, compound interest

compounded annually for a sum of ` 40,000,

will amount to ` 44,100 in two years ?

` 40,000 `

44,100

(A) 2 (B) 7.5

(C) 5 (D) 4

35. The compound interest on a certain sum in-

vested for 2 years at 10% per annum is `
1,522.50, the interest being compounded

yearly. The sum is:

10%

` 

(A) ` 7,250 (B) ` 7,200

(C) ` 7,500 (D) ` 7,000

36. Find the compound interest at the rate of 7%

p.a. compounded annually for two years on

the principal that yields a simple interest of `
9450 for 3 years at 7% p.a.

7% 3

` 9,450 7%

(A) ` 12,345.20

(B) ` 6,520.50

(C) ` 10,127

(D) ` 12,678.40

37. A sum of Rs. 8,000 invested at 10% p.a. amount

of Rs. 9,261 in a certain time, interest com-

pounded half-yearly. What will be the com-

pound interest (in Rs.) on the same sum for

the same time at double the earlier rate of in-

terest, when interest is compounded annully ?

10% 8,000 

9,261

(A) Rs. 2,520

(B) Rs. 2,480

(C) Rs. 2,560

(D) Rs. 2,500

38. The compound interest on ` 4,000 at the rate of 5%

p.a. is ` 630.50, then the time period is :

5% ` 4,000 ` 630.50

(CHSL - 2019)

(A) 2 years/ (B)  
13
2

years/ 

(C) 3 years/ (D)  
11
2

years/ 

39. The compound interest on ` 4,000 after 3 year is `
630.50. Then the rate of interest compounded yearly

is :

` 4,000 ` 630.50

(A) 7% (B) 5%

(C) 8% (D) 6%
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40. What sum of money at compound interest will

amount to `4,630.08 in three years if the rate

of interest is 4% for the first year, 5% for the

second year and 6% for the third year ?

`4,630.08 

4%, 5% 6% 

(A) ` 4,500 (B) ` 4,800

(C) ` 4,000 (D) ` 3,500

41. Rahul invested equal sums of money at compound

interest under two schemes A and B. Under scheme

A, the interest rate was 10% per annum and under

scheme B, the interest rate was 12% p.a. The com-

pound interest after two years on the sum invested

in scheme A was ` 1,050. How much is the interest

earned under scheme B after two years, if the inter-

est is compounded annually in both schemes ?

A B

A 10%

B 12% 

A ` 1,050

B 

(A) ` 1,270 (B) ` 1,372

(C) ` 1,722 (D) ` 1,272

42. The compound interest on a sum ` 20,000 at 15%

p.a. for 
2

2
3

 years, interest compounded yearly, is—

` 20,000

15% 
2

2
3

 

(A) ` 9,098 (B) ` 9,095

(C) ` 8,896 (D) ` 9,000

43. The compound interest on ` 64,000/- for 3

years, compounded annually at 7.5% p.a. is :

` 64,000/- 7.5% 3 

(A) ` 14,400/- (B) ` 15,705/-

(C) ` 15,507/- (D) ` 15,075/-

44. The compound interest on ` 4000 for 4 years

at 10% per annum will be

` 4000 10 4 

(A) ` 1856.40 (B) ` 1600

(C) ` 1856 (D) ` 1756.60
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1. (C) Effective Rate for 2 years

= 13 + 13 +
13 13

100

= 26 + 1.69
= 27.69%

2. (A) Effective rate for 3 years

10% = 
1

10
10 11
10 11
10 11
1000  1331
Effective rate for 3 years

= 
331

1000
×100 = 33.1%

3. (B) Effective Rate = 11 + 11 + 
11 11

100


= 22 + 1.21 = 23.21%
4. (D) rate : 7%, time = 1 year

Half yearly rate = 
7

2
%, time = 2 half years

effective rate = 

7 7
7 7 2 2
2 2 100

= 7.12%
5. (D) Effective rate at interest paid half yearly R

Rate (R) =
6

3%
2


Annual interest on this rate = R + R +

100

R R

= 3 + 3 + 
3 3

100



= 6.09%
6. (C) R = 7%,              T =  3years

7 + 7 + 
7 7

100
 = 14.49

14.49 + 7 + 
7 14.49

100
 = 21.49 + 1.0143

          = 22.5043

Solution

7. (C) Rate at half yearly R = 
12

2
= 6%

Amount rate so that resultant will be same

=
100

R R
R R


 

= 
6 6

6 6
100


 

= 12.36%

8. (A) Effective rate =  
15

2
+ 

15

2
+ 

15 15

2 2

100



15.5625%

9. (B) R = 4% T = 2 yrs   4 months

Effective Rate for 2 years = 8.16

Rate for 4 months = 
8

12
× 4 = 2.6%

Effective rate of interest

= 8.16 + 2.6 + 
8.16 2.6

100
= 11%

10. (A) R = 5%,  T = 2
1
2

Reff2 = 10.25

Reff2 1

2
 = 10.25 + 2.5 + 

10.25 2.5
100

       = 13%
11. (A) Let the principal be ` 100

Given  rate = 10% and time = 6 months

 SI = 
100 10 6

10 12
= ` 5

Now, after six months new principal =

` 100 + ` 5 = ` 105

SI = 
105 10 6

100 12
= ` 5.25

Total amount = ̀  105 + ` 5.25 = ̀  110.25

 Required rate = 110.25 – 100 = 10.25%

12. (A) R
eff.

 for CI = 8.16%
P = ` 7500
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So, CI = 7500 × 
8.16

100
= ` 612

13. (B) ` 24000
        

R = 5%          T =  1 yr. 73 days

1
73days yr.

5


1st yr = 1200
2nd Year = 1200 + 60

So,    1200 + 
1260

5
 =  ` 1452

14. (B) ` 10000
        

R = 5%          T =  1 yr. 1 day

1
1day yr

365


1st yr = 500
2nd Year = 500 + 25

So,    
25

365
 =  1.43

So, 500 + 1.43 =  `501.43

15. (C) Required amount =  10000
10

1
100

   

12
1

100

   

= 10000×
110 112

100 100
   =  ` 12,320/-

16. (D) ATQ,

CI = 2500 
103 104 105

1
100 100 100

= 2500 [1.12476 – 1]
= 2500 × .12476 = ` 311.90

17. (C) ATQ,

CI = 5000 
108 110 112

1
100 100 100

 CI = 5000 
27 11 28

1
25 10 25

 CI = 1652.80

 P = 
6350.50

100
27.05

 = ` 23476.89  ` 23477

18. (B) 20000

1250 1250 1250
78.125
78.125

4.88
78.125

3rd year C.I. = 1411.13

CI of 73 days = 1411.13 × 
1

5
= 282.22

So, total CI = 2500 + 78.125 + 282.22 = ` 2860.35

 (B) Reff = 8 + 10 + 
10 8

100

= 18 + 0.8 = 18.8%

Interest = 24000 × 
18.8

100

= 4512

20.(D) P = 30,000

R = 15%

T = 
2

2
3

year

Ist year  4500 = 4500

IInd year  4500 + 675 = 5175

IIIrd year  4500 + 675 + 675 + 101.25

                       = 5951.25

                       

= 
119025

3
 = 3667.5

Total C.I. for 
2

2
3

year

= 4500 + 5175 + 3667.5

= 13642.5

21.(D) T = 1 year + 146 days            146 days = 
2

5
 yr

T= 1
2

5
 yr.

P = `1960

R = 14.28% = 
1

7

C.I. = Ist yr  280

         IInd yr  280 + 40



                            
2

5
 × 320 × = 64 × 2 = 128

Total C.I. = 280 + 128 = ` 408

22. (A) Amount = Principal × 1
100

T
R
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 1352 =

2
4

1
100

P
   
 

 P =
1352 100 100

104 104

 


= 1250
23. (D) ATQ,

350 = P

4
1

1 1
3

 P = 
350 81

175
 = ` 162

24. (B) Let Principal = P

Time = 
1

2
2

 years = 2 years + 1 half year

Rate = 10%

Rate for 1 half year = 
10

2
 = 5%

So, Reff. = 21 + 5 + 
21 5

100
 = 27.05%

ATQ,
27.05% of P = 6350.50,

P = 
6350.50 100

27.05

P = 23476.89
P = 23477

25. (A) ATQ,.

3993

3000
 = 

3
100 x

100

 
 
 


3

11

10

 
 
 

= 

3
100 x

100

 
 
 

  
11

10
=  

100 x

100

 
 
 

 110 = 100 + x

x = 10%

26. (C) A = P 

T
R

1
100

  
 

 11664 = 10000 

2
R

1
100

  
 


11664

10000
= 

2
R

1
100

  
 


2

108

100

 
 
 

= 

2
R

1
100

  
 

 1+ 
R

100
= 

108

100


R

100
= 

108

100
–1= 

8

100

 R = 
8

100
×100

= 8% annual

27. (A) Let the time = t

ATQ,


t

5
1

100
=

9261

8000


t

21

20

 
 
 

=

3
21

20

 
 
 

 t = 3 years

28. (D) 1

Rate ( ) ( ) 1 100TR n

n= times of P.

T= Time

R =

1

2(2.25) 1 100
 

  
 

= (1.5 – 1) × 100

= 50%

29. (B)
30000 4347

30000


 =

n
107

100

 
 
 

 
34347

30000
 =

n
107

100

 
 
 

 
11449

10000
 =

n
107

100

 
 
 


2 n

107 107

100 100

      
   

 n = 2 years

30. (A) Absolute Interest rate for 2 years

= 15 + 15 + 
15 15

100


= 32.25%

ATQ,

32.25% of sum = 3225

 sum = ` 10000

31. (C) Accordingly to question–

1348.32

1200
=

2
R

1
100

 
 

  
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
11236

10000
=

2
R

1
100

 
 

  


2

106

100

 
  
 

=

2
R

1
100

 
  
 


R

100
=

106
1

100


 R = 6%

32. (D) 20000

2000 2000 2000
200
200
20

2420200

As there is only 
2

5
part of 3rd year. So C.I. for

3rd year is 2420 ×  
2

5
 = ` 968

Total compound interest = 4200 + 968 = ` 5168

Amount = 20000 + 5168 = ` 25168

33. (D) Interest paid by Avadhesh =

106 110
30000 30000

100 100
 = 4980

Interest paid by Yogendra

= 50,000 ×
8

100
+

108
50,000 50,000 30,000

100
×

12

100

= 4,000 + 2880 = 6,880

Yogendra paid (6,880 – 4,980) = ` 1,900 more

as interest than Avadhesh

34. (C) ATQ,

2
44100 R

1
40000 100

  
21 R

1
20 100

 R = 5%

35. (A) Rate = 10%;     T = 2 years

Effective C.I. % = 21%

So,

The sum = 
1522.50

100
21

 = ` 7250

36. (B) As we know

P = 
SI × 100

R × T

P = 
9450 × 100

7 × 3


= 45000  `

P = 45000,   R = 7%,    T = 2yrs

Reff = 14.49%

14.49CI = 45000 × 
100

= 6520.50 `

37. (C) P = 800, T = 3/2 years, R = 20%

A = 8000 × 
6

5
 × 

11

10

A = Rs. 10560

C.I. = Rs. 2560

38. (C) R
eff

% = 
630.50

4000
×100

= 15.7625%

R
eff

 for 5% Rate is for 3 years

So T = 3 years

39. (B) % R
eff

 = 
630.5

100
4000

= 15.7625%

So Rate/annum = 5%

40. (C)
104 105 106

P
100 100 100

 = 4630.08

P = 4000

41. (D) 2 yr effective rate for 10% = 21%

2 yr effective rarte for 12% = 25.44%

= 
1050

21
× 25.44 = 1272

42. (B) P = 20000

R = 15%

1st year  3000

2nd year  3000 450

3rd year  3000 450 450

67.5
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Total Interest for 
2

2
3

 year

 = 3000 + 3450 + 2645 = 9095

43. (C) Required interest = 64000

3
7.5

1 –1
100

    
  

= 64000

3
3

1 –1
40

    
  

=64000
    
 
 

3 3
43 – 40

64000

= 79507–64000 = ` 15,507/-

44. (A) R
eff.

 for 4 years CI = 46.41%

So, CI = 4000 × 
46.41

100
 = ` 1856.4


